## **Bid Comparison**

**Contract ID:** 489.2442

**Description:** Prep to Pave. Approximately 5150'x26'.

Location:

16th Ave From 60th St to CR 681 - Geneva Twp

Projects(s):

489.2442

Bidder	Total Bid	% Over Low	% Over Est.
ENGINEER'S ESTIMATE	\$190,682.50	1.80%	0.00%
(07945) Krohn Excavating, LLC	\$187,299.00	0.00%	-1.77%
(06781) Lounsbury Excavating, Inc.	\$212,666.00	13.54%	11.52%
(00436) Peters Construction Co.	\$377,849.00	101.73%	98.15%
	(07945) Krohn Excavating, LLC (06781) Lounsbury Excavating, Inc. (00436) Peters Construction Co.	ENGINEER'S ESTIMATE \$190,682.50  (07945) Krohn Excavating, LLC \$187,299.00  (06781) Lounsbury Excavating, Inc. \$212,666.00  (00436) Peters Construction Co. \$377,849.00	ENGINEER'S ESTIMATE \$190,682.50 1.80% (07945) Krohn Excavating, LLC \$187,299.00 0.00% (06781) Lounsbury Excavating, Inc. \$212,666.00 13.54%

Contract # 489.2442 (16th Ave From 60th St to CR 681 - Geneva Twp) MERL: 2021.1.0

Line Pay Item Code Description	Quantity Un	its (0) ENGINEER'S  Bid Price		(1) Krohn Excavatir <b>Bid Price</b>	ng, LLC <b>Total</b>	(2) Lounsbury Exca <b>Bid Price</b>	vating, Inc. <b>Tota</b>
0001 1500001	1 LSI		+	\$7,500.00	\$7,500.00	\$17,300.10	\$17,300.10
Mobilization, Max	1 230	γ10,000.00	\$10,000.00	Ψ1,300.00	Ψ1,500.00	ψ17,300.10	ψ17,300.10
0002 2020002	9 E:	a \$500.00	\$4,500.00	\$900.00	\$8,100.00	\$1,200.00	\$10,800.00
Tree, Rem, 19 inch to 36 inch							
0003 2020003	2 E	a \$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00	\$3,640.00	\$7,280.00
Tree, Rem, 37 inch or Larger							
0004 2020004	100 Ea	a \$300.00	\$30,000.00	\$125.00	\$12,500.00	\$220.00	\$22,000.00
Tree, Rem, 6 inch to 18 inch							
0005 2030001	12 E	a \$300.00	\$3,600.00	\$200.00	\$2,400.00	\$235.00	\$2,820.00
Culv, Rem, Less than 24 inch							
0006 2030003	2 E	a \$800.00	\$1,600.00	\$800.00	\$1,600.00	\$2,365.00	\$4,730.00
Culv, Rem, Over 48 inch							
0007 2050030	51.5 St	a \$600.00	\$30,900.00	\$675.00	\$34,762.50	\$510.00	\$26,265.00
Machine Grading Modified							
0008 2080036	200 F	t \$2.50	\$500.00	\$4.00	\$800.00	\$6.00	\$1,200.00
Erosion Control, Silt Fence							
0009 3020016	2,290 Sy	d \$9.00	\$20,610.00	\$5.00	\$11,450.00	\$7.75	\$17,747.50
Aggregate Base, 6 inch							
0010 3070200	103 St	a \$175.00	\$18,025.00	\$25.00	\$2,575.00	\$210.00	\$21,630.00
Trenching 2' x 6"							
0011 3080005	130 Sy	d \$3.00	\$390.00	\$7.00	\$910.00	\$3.00	\$390.00
Geotextile, Separator							
0012 4010133	10 F	, , , , , , , , , , , , , , , , , , , ,	\$550.00	\$120.00	\$1,200.00	\$250.00	\$2,500.00
Culv, Cl A, 18 inch AL Type II. E bands	xtend 5' each side wit	h 2					
0013 4010135	10 F	t \$120.00	\$1,200.00	\$165.00	\$1,650.00	\$270.00	\$2,700.00
Culv, Cl A, 30 inch AL Type II. E			÷ ·,= : 3:00	Ţ	Ţ.,	<del>+</del> =	<del>+</del> -,: - <b>0.00</b>

Contract # 489.2442 (16th Ave From 60th St to CR 681 - Geneva Twp) MERL: 2021.1.0

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S ESTIMATE		(1) Krohn Excavatin	ıa. LLC	(2) Lounsbury Excavating, Inc.	
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0014 4010609	380	Ft	\$40.00	\$15,200.00	\$45.00	\$17,100.00	\$55.00	\$20,900.00
Culv, Cl F, 18 inch AL Type	II.							
0015 4017051	1	LSUM	\$19,000.00	\$19,000.00	\$29,400.00	\$29,400.00	\$23,500.00	\$23,500.00
_ Culv, 95"x67" Pipe-Arch,	AL Type II. 60' Long							
0016 8070095	7	Ea	\$100.00	\$700.00	\$150.00	\$1,050.00	\$225.00	\$1,575.00
Post, Mailbox								
0017 8120012	4	Ea	\$600.00	\$2,400.00	\$100.00	\$400.00	\$104.00	\$416.00
Barricade, Type III, High In	tensity, Double Sided,	Lighted,						
0018 8120013	4	Ea	\$25.00	\$100.00	\$50.00	\$200.00	\$1.10	\$4.40
Barricade, Type III, High In	tensity, Double Sided,	Lighted,						
Oper 0400470			J		ΦΟ 400 00		<b>#4.047.00</b>	
0019 8120170 Minor Traf Devices	1	LSUM	\$5,000.00	\$5,000.00	\$2,100.00	\$2,100.00	\$1,617.00	\$1,617.00
		O#	φ <u>τ</u> 00	#4.400.00l	ф1.00	#000 00	Ф4.00	<b>#000.00</b>
0020 8120350 Sign, Type B, Temp, Prisma	220	Sft	\$5.00	\$1,100.00	\$4.00	\$880.00	\$4.00	\$880.00
		Sft	¢1 50	\$330.00	¢4.00	\$220.00		\$242.00
0021 8120351 Sign, Type B, Temp, Prisma	220 atic Oper	Sit	\$1.50	φ330.00	\$1.00	φ220.00	\$1.10	φ242.00
0022 8127051		LSUM	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$3,235.00	\$3,235.00
_ Chloride Dust Control, 1		LOUM	φ1,000.00	\$1,000.00	φ1,200.00	\$1,200.00	φ3,233.00	φ3,233.00
0023 8130010	40	Syd	\$70.00	\$2,800.00	\$100.00	\$4,000.00	\$75.00	\$3,000.00
Riprap, Plain	10	Oyu	Ψ70.00	Ψ2,000.00	ψ100.00	Ψ1,000.00	ψ/ 0.00	ψο,σσσ.σσ
0024 8160020	1.170	Lb	\$2.00	\$2,340.00	\$3.00	\$3,510.00	\$1.10	\$1,287.00
Fertilizer, Chemical Nutrien	it, Cl A		,	, , , , , , , , ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,	,	, , -
0025 8160025	24,550	Syd	\$0.20	\$4,910.00	\$1.00	\$24,550.00	\$0.15	\$3,682.50
Mulch	,	,	·					. ,
0026 8160026	24,550	Syd	\$0.10	\$2,455.00	\$0.13	\$3,191.50	\$0.20	\$4,910.00
Mulch Anchoring								
0027 8160027	1,000	Syd	\$0.80	\$800.00	\$4.00	\$4,000.00	\$2.00	\$2,000.00
Mulch Blanket		-						
0028 8160040	1,130	Lb	\$3.25	\$3,672.50	\$5.00	\$5,650.00	\$4.65	\$5,254.50
Seeding, Mixture THV								

Line Pay Item Code	Quantity Un	its (0) E	(0) ENGINEER'S ESTIMATE		(1) Krohn Excavating, LLC		(2) Lounsbury Excavating, Inc.	
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0029 8167051 _Extended Restoration	1 L	S	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$2,800.00	\$2,800.00
Bid Totals:				\$190,682.50		\$187,299.00		\$212,666.00

Line Pay Item Code	Quantity Units	(3) Peters Constru	uction Co.		
Description		Bid Price	Total	Bid Price Total	Bid Price Total
0001 1500001	1 LSUM	\$15,000.00	\$15,000.00	\$0.00	\$0.00
Mobilization, Max					
0002 2020002	9 Ea	\$1,030.00	\$9,270.00	\$0.00	\$0.00
Tree, Rem, 19 inch to 36 inch					
0003 2020003	2 Ea	\$2,850.00	\$5,700.00	\$0.00	\$0.00
Tree, Rem, 37 inch or Larger					
0004 2020004	100 Ea	\$200.00	\$20,000.00	\$0.00	\$0.00
Tree, Rem, 6 inch to 18 inch					
0005 2030001	12 Ea	\$498.00	\$5,976.00	\$0.00	\$0.00
Culv, Rem, Less than 24 inch					
0006 2030003	2 Ea	\$2,985.00	\$5,970.00	\$0.00	\$0.00
Culv, Rem, Over 48 inch					
0007 2050030	51.5 Sta	\$2,656.00	\$136,784.00	\$0.00	\$0.00
Machine Grading Modified					
0008 2080036	200 Ft	\$4.75	\$950.00	\$0.00	\$0.00
Erosion Control, Silt Fence					
0009 3020016	2,290 Syd	\$7.50	\$17,175.00	\$0.00	\$0.00
Aggregate Base, 6 inch					
0010 3070200	103 Sta	\$319.00	\$32,857.00	\$0.00	\$0.00
Trenching 2' x 6"					***
0011 3080005	130 Syd	\$4.00	\$520.00	\$0.00	\$0.00
Geotextile, Separator					***
0012 4010133	10 Ft	\$200.00	\$2,000.00	\$0.00	\$0.00
Culv, Cl A, 18 inch AL Type II. External bands	end 5 each side with 2				
0013 4010135	10 Ft	\$297.00	\$2,970.00	\$0.00	\$0.00
Culv, CI A, 30 inch AL Type II. Exte	end 5' each side with 2				
bands 0014 4010609	380 Ft	\$59.00	\$22,420.00	\$0.00	\$0.00
Culv, Cl F, 18 inch AL Type II.	30U Fl	<b>გეგ.00</b>	φ∠∠,4∠U.UU	\$0.00	\$0.00
0015 4017051	1 LSUM	\$61,975.00	\$61,975.00	\$0.00	\$0.00
_ Culv, 95"x67" Pipe-Arch, AL Type		φυ1,975.00	φυτ, επου	\$0.00	\$0.00

Line Pay Item Code	Quantity	Units	(3) Peters Construc	tion Co.		
Description			Bid Price	Total	Bid Price Total	Bid Price Total
0016 8070095	7	Ea	\$110.00	\$770.00	\$0.00	\$0.00
Post, Mailbox						
0017 8120012	4	Ea	\$103.00	\$412.00	\$0.00	\$0.00
Barricade, Type III, High Intensity, D	Double Sided,	Lighted,				
Furn 0018 8120013	4	Ea	\$1.25	\$5.00	\$0.00	\$0.00
Barricade, Type III, High Intensity, D	•		ψ1.20	Ψ0.00	ψ0.00	Ψ0.00
Oper			l			
0019 8120170	1	LSUM	\$4,025.00	\$4,025.00	\$0.00	\$0.00
Minor Traf Devices						
0020 8120350	220	Sft	\$4.00	\$880.00	\$0.00	\$0.00
Sign, Type B, Temp, Prismatic, Furn						
0021 8120351	220	Sft	\$1.25	\$275.00	\$0.00	\$0.00
Sign, Type B, Temp, Prismatic, Ope						
0022 8127051		LSUM	\$1,100.00	\$1,100.00	\$0.00	\$0.00
_ Chloride Dust Control, 1 Applicati						
0023 8130010	40	Syd	\$107.00	\$4,280.00	\$0.00	\$0.00
Riprap, Plain						
0024 8160020	1,170	Lb	\$2.20	\$2,574.00	\$0.00	\$0.00
Fertilizer, Chemical Nutrient, Cl A						
0025 8160025	24,550	Syd	\$0.36	\$8,838.00	\$0.00	\$0.00
Mulch						
0026 8160026	24,550	Syd	\$0.06	\$1,473.00	\$0.00	\$0.00
Mulch Anchoring			1			*
0027 8160027	1,000	Syd	\$1.50	\$1,500.00	\$0.00	\$0.00
Mulch Blanket						*
0028 8160040	1,130	Lb	\$5.00	\$5,650.00	\$0.00	\$0.00
Seeding, Mixture THV			1			*
0029 8167051	1	LS	\$6,500.00	\$6,500.00	\$0.00	\$0.00
_ Extended Restoration						
Bid Totals:				\$377,849.00		